



INSIGHT PUBLIC SECTOR, INC. 2701 E INSIGHT WAY CHANDLER AZ 85286-1930

Tel: 800-467-4448

Account name: 10783179

CITY OF GREENFIELD ACCOUNTS PAYABLE

10 S STATE ST

GREENFIELD IN 46140-2329

SHIP-TO

CITY OF GREENFIELD ROB SOUCHON 10 S STATE ST

GREENFIELD IN 46140-2329

Quotation

Quotation Number: 0228658613 **Document Date**: 25-JUL-2025

PO Number : HPE ALLETRA STORAGE

PO Release

Sales Rep : Melanie Fogt

Email : MELANIE.FOGT@INSIGHT.COM

Phone : +19374159457

We deliver according to the following terms:

Payment Terms : Net 30 days

Ship Via : Insight Assigned Carrier/Ground

Discount: 76.038%

Terms of Delivery : FOB DESTINATION

Currency : USD

Material	Material Description	Quantity	Unit Price	Extended Price
<u>ZU715A</u>	HPE Installation Service - installation - for HPE Dynamic Solution Express OMNIA PARTNERS (COBB COUNTY) IT PRODUCTS AN SERVICES(# 23-6692-03) List Price: 49.99 Discount: 30.626%	1 D	34.68	34.68
S0B84A	HPE GREENLAKE BLOCK STG MP BASE CONFIG OMNIA PARTNERS (COBB COUNTY) IT PRODUCTS AN SERVICES(# 23-6692-03) List Price: 0.99 Discount: 100.000%	1 D	0.00	0.00
S3Q02A	HPE GreenLake for Block Storage MP OS - subscription license-to-use (5 years) - 1 TB capacity Coverage Dates: 25-JUL-2025 - 25-JUL-2030 OMNIA PARTNERS (COBB COUNTY) IT PRODUCTS AN SERVICES(# 23-6692-03) List Price: 1.99 Discount: 100.000%	1 D	0.00	0.00
581817-B21	Configurator Defined Build Instructions - user manual OMNIA PARTNERS (COBB COUNTY) IT PRODUCTS AN SERVICES(# 23-6692-03) List Price: 1.99 Discount: 100.000%	1 D	0.00	0.00
R7C75A	HPE Alletra Storage MP - rack chassis - 2U OMNIA PARTNERS (COBB COUNTY) IT PRODUCTS AN SERVICES(# 23-6692-03) List Price: 14595.99	1 D	3,497.52	3,497.52



Material	Material Description	Quantity	Unit I	Price Extended Price
S0S38A	HPE 256GB 8-core Block Controller Node - storage controller OMNIA PARTNERS (COBB COUNTY) IT PRODUCTS AND SERVICES(# 23-6692-03) List Price: 39318.99 Discount: 74.359%	2	10,081.67	20,163.34
<u>\$2\$64A</u>	HPE Alletra Storage MP - host bus adapter - OCP - 32Gb Fibre Channel x 4 OMNIA PARTNERS (COBB COUNTY) IT PRODUCTS AND SERVICES(# 23-6692-03) List Price: 8574.99 Discount: 75.971%	2	2,060.51	4,121.02
<u>R7C77A</u>	HPE Alletra storage MP C20 power supply - 1500 W OMNIA PARTNERS (COBB COUNTY) IT PRODUCTS AND SERVICES(# 23-6692-03) List Price: 7066.99 Discount: 72.844%	2	1,919.10	3,838.20
R9H67A	HPE Alletra - SSD - 3.84 TB - PCIe (NVMe) OMNIA PARTNERS (COBB COUNTY) IT PRODUCTS AND SERVICES(# 23-6692-03) List Price: 12691.99 Discount: 75.042%	14	3,167.68	44,347.52
R9R66A	HPE - power cable - IEC 60320 C19 to IEC 60320 C20 - 4.6 ft OMNIA PARTNERS (COBB COUNTY) IT PRODUCTS AND SERVICES(# 23-6692-03) List Price: 27.99 Discount: 67.524%	1	9.09	9.09
R9S02A	HPE - power cable - IEC 60320 C19 to IEC 60320 C20 - 4.6 ft OMNIA PARTNERS (COBB COUNTY) IT PRODUCTS AND SERVICES(# 23-6692-03) List Price: 27.99 Discount: 46.302%	1	15.03	15.03
<u>S0A98A</u>	HPE License To Use (LTU) OMNIA PARTNERS (COBB COUNTY) IT PRODUCTS AND SERVICES(# 23-6692-03) List Price: 0.99 Discount: 100.000%	1	0.00	0.00
S3Q02AAE	HPE GreenLake for Block Storage MP OS - subscription license (5 years) + Support - 1 TB capacity Coverage Dates: 25-JUL-2025 - 25-JUL-2030 OMNIA PARTNERS (COBB COUNTY) IT PRODUCTS AND SERVICES(# 23-6692-03) List Price: 1955.99 Discount: 83.964%	54	313.66	16,937.64
H38NHAS	HPE GreenLake for Block Storage Service - subscription license - 1 license OMNIA PARTNERS (COBB COUNTY) IT PRODUCTS AND SERVICES(# 23-6692-03) List Price: 0.99	1	0.00	0.00



Material	Material Description	Quantity	Unit F	Price Extended Price
	Discount: 100.000%			
<u>HU4A6A5</u>	HPE Tech Care Essential Service - extended service agreement - 5 years - on-site OMNIA PARTNERS (COBB COUNTY) IT PRODUCTS AND SERVICES(# 23-6692-03) List Price: 0.99 Discount: 100.000%	1	0.00	0.00
HU4A6A5008W	HPE Alletra Storage Base Configuration - extended service agreement OMNIA PARTNERS (COBB COUNTY) IT PRODUCTS AND SERVICES(# 23-6692-03) List Price: 0.99 Discount: 100.000%	1	0.00	0.00
HU4A6A5008L	HPE Alletra Storage MP 2U Chassis - extended service agreement OMNIA PARTNERS (COBB COUNTY) IT PRODUCTS AND SERVICES(# 23-6692-03) List Price: 1153.99 Discount: 45.875%	1	624.60	624.60
HU4A6A5008M	HPE Pointnext Tech Care Essential Service - extended service agreement - 5 years - on-site OMNIA PARTNERS (COBB COUNTY) IT PRODUCTS AND SERVICES(# 23-6692-03) List Price: 3107.99 Discount: 65.345%	2	1,077.06	2,154.12
HU4A6A5008S-OMNIA	HPE ALLETRA STG MP 3.84TB NVME SSD SUPP OMNIA PARTNERS (COBB COUNTY) IT PRODUCTS AND SERVICES(# 23-6692-03) List Price: 1924.99 Discount: 67.316%	14	629.16	8,808.24
HU4A6A500GQ	HPE Pointnext Tech Care Essential Service - extended service agreement - 5 years - on-site OMNIA PARTNERS (COBB COUNTY) IT PRODUCTS AND SERVICES(# 23-6692-03) List Price: 755.99 Discount: 45.920%	2	408.84	817.68
HA124A1#VZW	HPE GREENLAKE BLK STRG OS SRTUP SVC OMNIA PARTNERS (COBB COUNTY) IT PRODUCTS AND SERVICES(# 23-6692-03) List Price: 3127.99 Discount: 14.450%	1	2,676.00	2,676.00
HA124A1#VZS	HPE Installation & Startup Service - installation / configuration - on-site OMNIA PARTNERS (COBB COUNTY) IT PRODUCTS AND SERVICES(# 23-6692-03) List Price: 3874.99 Discount: 52.393%	1	1,844.77	1,844.77



Page 4 of 4



Product Subtotal	92,964.04
Services Subtotal	16,925.41
TAX	0.00
Total	109,889.45

Thank you for choosing Insight. Please contact us with any questions or for additional information about Insight's complete IT solution offering.

Sincerely,

Melanie Fogt +19374159457 MELANIE.FOGT@INSIGHT.COM

To purchase under this contract, your agency must be registered with OMNIA Partners Public Sector. Pricing for complete solution valid for 30 days. All Items Non-Returnable

Insight Global Finance has a wide variety of flexible financing options and technology refresh solutions. Contact your Insight representative for an innovative approach to maximizing your technology and developing a strategy to manage your financial options.

This purchase is subject to Insight's online Terms of Sale unless you are purchasing under an Insight Public Sector, Inc. contract vehicle, in which case, that agreement will govern.

SOFTWARE AND CLOUD SERVICES PURCHASES: If your purchase contains any software or cloud computing offerings ("Software and Cloud Offerings"), each offering will be subject to the applicable supplier's end user license and use terms ("Supplier Terms") made available by the supplier or which can be found at the "terms-and-policies" link below. By ordering, paying for, receiving or using Software and Cloud Offerings, you agree to be bound by and accept the Supplier Terms unless you and the applicable supplier have a separate agreement which governs.

Insight's online Terms of Sale can be found at the "terms-and-policies" link below.

https://www.insight.com/terms-and-policies